Séquence de Nombres Linéaires (A)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
9692

Différence commune:

| | |
9092 8992 8892

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9035 9030 9025 9015 9010 9000
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6884 6784 6184
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
7778 7753 7728 7703 7678 7628
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9388 8938 8863 8788
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
1990 1965 1915 1865
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
8352 8332 8322 8282

Différence commune:
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